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TEHX4y « Tfd - FER B Az W B & #A i il N BN
RIHERE = 1 29, 581, 190
XA G T = 1 1, 160, 000
B a RIS T Y 1 1, 160, 000 | BXAEE IS 1 =
e i =Y 1 933, 920
A T Y 1 423,520 |#mHI 800 m3
W A7 vhyb PP BEEME 5, 000m3ATH ;
£zl 800 m3
+ 50, 000m3AT ;
AL T =Y 1 510, 400
R T = 1 24, 867, 050
PERARRE T = 1 24, 867,050 |[REE 972, 000 m2
FRE 131, 000 m2
£ 60, 000 m2
FE 776, 000 m2
FE 60, 000 m2
kel 836, 000 m2
FEIA - f7EE 836, 000 m2
TEWE GEBABRED 836, 000 m2
AT = 1 205, 500
PARBRAR T2 = 1 205,500 | XA 1A (BE) 1,000 m2
AR (B 1)
FIHTE R T Y 1 236, 460
TAT 7 M T = 1 236,460 | T & A (i - BEE ) 100 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
=)@ (§E - ) 100 m2

FIAEBRIET A2, (13) 34T 40mm 3. Omill ;
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HhEmE T = 1 361, 600
[h 7)) = 1 361,600 |FED avs)-} 100 m2
15
18-8-40 (F&F) 2y -ME R EIHe4E
s L Y 1 642, 580
JEESRALERE T Y 1 642, 580 | BOIEEESTALER 100, 000 m2
HEAE BB ST ULE (Bl ) 10 m3
HEREEE SR ULE A\ 0 BR) 50 m3
SN AL T =Y 1 1, 129, 440
IEALBREE T Y 1 1,129, 440 |54 1 =
A Y 1 44, 640
AEEH L Y 1 44, 640
[ERAE Xy = 1 29, 581, 190
HiE 2 2 1 2, 880, 000
HiE R = 1 403, 000
BGRESCGES (5 1) = 1 403, 000
B (FEHL) = 1 2,477, 000
T = 1 32, 461, 190
Bl gy 2 1 12, 069, 000
T =5l = 1 44, 530, 190
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THX 4y - THE - flR B Az W B & HH i il R
— R A 2 1 8, 209, 810
TS 2 1 52, 740, 000
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